U506g. 350. 3-0U 395¢9EIMO 3TMEFPOL 535¢19dgd5MS b0TMAgdo
L&1gbGHgdolmzgols

1. 8mdgdbgo X =t*, y =3t* =2t 3565993 wms© dmzgdmo Fomol dbgdo FOxol gobEHmgds
00 §96G0wdo, HMIgeoE d9gLsdsdgds t =1 36033690 mdsL.

2. 030390 00 560L BsOHMMBO, BHMIgog 99dmbsdbugmrwos F'=0+1, 1<0 <2, Goooom ©s
0=1w©s 0=2 Uboggdoom (I @5 O 30ws6rmwo 3nmmobs®gdos).

3. 895030690 00 LEdGEYOL F96EMEGds, MMdgeos ool P(34;,-1) fHahGHowdg
n=-2i+3j+4k 39JAHMO0L BsOHMMBYWS.

4. 2500035 gm a=3i-2j+k o5 b=3i+4]+5k 39JGH™OIOOL : 5) B3O sGMo
B59M530;  0) 39JBMOMYWOo BsIMI3oL 3MMMObSBHIO0; ) 3Obg  39dBHMOYOL JmEOU;
©) 399&H™OHGOBY 92900 1533MMbYOL FSOCMBO.

5. 5) 03m390 Bsfios30l LoBdsMy t (33eoOL J0mMOm GO0 360d3z6gwmdoLsmM30L, vy
65§oe530 8dMmdL dmEgdeo 3mboEool F(t) 39dE™Mol dgbsdsdols:
F(t) =2sinti +(1+3t)] +(t° —4t)k, t=0.

0) 03039 bsfoszol sBJotgds t (33esol 0000930 36033690 MmdOLIMZ0L, vy
Bofoaozo 3mdGomdl dmEgdmwo V(t) LoRJs®oo: V(t) =2t T +(4—t2)] +(6t+2t*)k, t=1.

6. 03390 HoMob Fgbodsdolbo M350l LogMdyg, 0¥ Jobo 356539BHMWO ASBEHMEYdSS
FU)=@+t) I +2t j+(1-3t) k, 1<t<4.

7. 03390  f(x,y)=In(B6—Xx*—y?)+ fxz +y?-16  896J300L goblsbwz®ol sGOL FsGMdO.

8. 03mggm 9df /0x-0b 3603369 mds (-1;1) O Eowdo, o
flx,y) =4x3 +8xy? +y — 12.

9. o9 f(x,¥) = x%lny + e**y, 85806 5) 0f /Ox=...; B) Of/dy =...

10. oy f(x,y) =5x2 4+ 6x3y +y3 —10,05806: o) 0%f/dx%=...; ®) 9%f/oy* =...;
Q) 0%f/0xdy =...

11. 03mggo grad f (L,-2), 00 f(X;y)=X"y*+x +2y°.



12. 03mggo f(X,y)=2x®+9x* —6xy —3y* —12X+18Y ®¢6J300L : a) wm3se)Ho
90603x9dol , b) wm3sem@o dsgdubodxmdol HodGHowo.



